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Day 2: Use pairs to 10 to find how many to the next 10.

What’s the 
next 10s 
number?

What do we 
need to add to 
36 to make 40? 

Let’s count up 
from 36 to 40.
Let’s count up 
from 36 to 40.

This is not a surprise! 
We know that 6 and 4

make 10, so 36 and 4 make 
40! 

This is not a surprise! 
We know that 6 and 4

make 10, so 36 and 4 make 
40! 
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Day 2: Use pairs to 10 to find how many to the next 10.

What’s the 
next 10s 
number?

Let’s count up 
from 57 to 60.
Let’s count up 
from 57 to 60.

What goes with 7 to 
make 10?

So, what goes with 57 
to make 60? 

57 + 3 = 6057 + 3 = 60

What is 60 – 3? How 
do you know? 

We end up 
where we 
started!

We end up 
where we 
started!


